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General Instructions:- 

       1. The paper is divided into four
Section A : Reading
Section B: Writing and Grammar 
Section C: Grammar
Section-D:  Literature

     2. You may attempt any section at a time.
 All questions of that particular section must be attempted in the 

   

                   Section 

   1 . Read the following passage and answer the questions 

Helping Others Is Real Kindness

1. To feel for others and to do righteous acts of help to living creatures is indeed real 
one can stop a heart from breaking, if one can ease the aching in one
has not lived in vain. 

2. To some, helping others is matter of faith. An elderly stranger went to a hospital in Peter 
Brough, New Hampshire and performed countless tasks: sweeping, dusting building ramps, 
removing lint from the place where clothes are washed, etc for four months. He never revealed his 
identity. Only after he had left the place, the hospital staff realized that he was former Vice 
President of the Peninsular Railroad, a private railway company in the USA.

3. All along the route of the funeral procession of Lord Shaftesbury, a well known social
of England, stood groups of people (whom he had helped in one way or the other) to pay homage 
to him. Thousands of people hailing from all classes of society held aloft banners with the words 
that he had helped them in their hour of suffering. In

4. In India, Saints and sages throughout the ages have preached the gospel of service to the sick 
and the suffering, the distressed and the downtrodden . In every town in India, there are a few 
sympathisers to the suffering who pay the tuition fees of poor students, give them books and 
stationary, pay substance allowances to needy widows and arrange their daughter
give blankets in winter and umbrellas in monsoons. Added to them are many persons who have 
given up their everything for the service of humanity and join service organization.

1.1 Answer the following question

1. What is real kindness according to the author?
2. How do people in India help others?
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The paper is divided into four sections: 
Reading -  20 Marks 
Writing and Grammar - 15 Marks 
Grammar-   20 Marks 
Literature  - 25 Marks 

You may attempt any section at a time. 
All questions of that particular section must be attempted in the correct order.

Section – A (Reading)                                   

ssage and answer the questions given below: 

Helping Others Is Real Kindness 

1. To feel for others and to do righteous acts of help to living creatures is indeed real 
one can stop a heart from breaking, if one can ease the aching in one‟s life or cool one

matter of faith. An elderly stranger went to a hospital in Peter 
Brough, New Hampshire and performed countless tasks: sweeping, dusting building ramps, 
removing lint from the place where clothes are washed, etc for four months. He never revealed his 

ity. Only after he had left the place, the hospital staff realized that he was former Vice 
President of the Peninsular Railroad, a private railway company in the USA. 

3. All along the route of the funeral procession of Lord Shaftesbury, a well known social
of England, stood groups of people (whom he had helped in one way or the other) to pay homage 
to him. Thousands of people hailing from all classes of society held aloft banners with the words 
that he had helped them in their hour of suffering. Instances of this type are many.

4. In India, Saints and sages throughout the ages have preached the gospel of service to the sick 
and the suffering, the distressed and the downtrodden . In every town in India, there are a few 

ho pay the tuition fees of poor students, give them books and 
stationary, pay substance allowances to needy widows and arrange their daughter
give blankets in winter and umbrellas in monsoons. Added to them are many persons who have 

heir everything for the service of humanity and join service organization.

Answer the following questions in not more than 30- 40 words  

What is real kindness according to the author? 
people in India help others? 
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correct order. 

                                   [20 Marks] 

1. To feel for others and to do righteous acts of help to living creatures is indeed real  kindness. If 
s life or cool one‟s pain, he 

matter of faith. An elderly stranger went to a hospital in Peter 
Brough, New Hampshire and performed countless tasks: sweeping, dusting building ramps, 
removing lint from the place where clothes are washed, etc for four months. He never revealed his 

ity. Only after he had left the place, the hospital staff realized that he was former Vice 

3. All along the route of the funeral procession of Lord Shaftesbury, a well known social reformer 
of England, stood groups of people (whom he had helped in one way or the other) to pay homage 
to him. Thousands of people hailing from all classes of society held aloft banners with the words 

stances of this type are many. 

4. In India, Saints and sages throughout the ages have preached the gospel of service to the sick 
and the suffering, the distressed and the downtrodden . In every town in India, there are a few 

ho pay the tuition fees of poor students, give them books and 
stationary, pay substance allowances to needy widows and arrange their daughter‟s marriages, 
give blankets in winter and umbrellas in monsoons. Added to them are many persons who have 

heir everything for the service of humanity and join service organization. 

  (2X2=4)  



1.2     Answer the following questions briefly          (1X2=2) 

1. What sort of tasks the elderly gentleman performed? 
2. Why was the funeral procession of Lord Shaftesbury attended by thousands of people? 

1.3 Fill in the blanks using appropriate words from the passage.     (1x2=2) 

1. In India, saints and sages have rendered their services to 
(i)______________________________ and    (ii)______________________ 

2. The life of a person is not in vain if_____________________________________. 
 
1.4: Give the synonyms of ‘Oppressed’ (para-4)        (1) 

1.5: Give the antonym of ‘Righteous’         (1) 

    2. Read the passage and answer the questions:- 

We have been brought up to fear insects. We regard them as unnecessary creatures that do more 

harm than good. Man continuously wages war on them, for they contaminate his food, carry 

diseases or devour his crops. They sting or bite without provocation, they fly uninvited into our 

rooms on summer nights, or beat against our lighted windows. We live in dread not only of 

unpleasant insects like spiders or wasps, but of quite harmless ones like moths. Reading about 

them increases our understanding without dispelling our fears. Knowing that the industrious ants 

live in a highly organized society does not prevent us from being filled with revulsion when we 

find hordes of them crawling over a carefully prepared picnic lunch. 

No matter how much we like honey, or how much we have read of the uncanny sense of direction 

which bees possess, we have a horror of being stung. Most of our fears are unreasonable, but they 

are difficult to erase. At the same time, however, insects are strangely fascinating. We enjoy 

reading about them, especially when we find that like the Praying Mantis, they lead perfectly 

horrible lives. We enjoy staring at them, entrance as they go about their business, unaware -we 

hope – of our presence. Who has not stood in awe at the sight of a spider pouncing on a fly, or a 

column of ants triumphantly carrying home an enormous dead beetle? 

Last summer, I spent many days in the garden watching thousands of ants crawling up the trunk 

of my prized peach tree. The tree has grown against a warm wall on a sheltered side of the house. 

I am specially proud of it, not only because it has survived several severe winters, but because it 

occasionally produces luscious peaches. During the summer I noticed that the leaves of the tree 

had begun to wither. Clusters of tiny insects called Aphids were to be found on the underside of 

the leaves. They were visited by a large column of ants which obtained a sort of honey from them. 

I immediately embarked on an experiment which, even though it failed to get rid of the ants, kept 

me fascinated for twenty four hours. I bound the base of the tree with sticky tape, making it 

impossible for the ants to reach the Aphids. The tape was so sticky that they did not dare to cross 

it. For a long time, I watched them scurrying around the base of the tree in bewilderment. I even 

went out at midnight with a torch and noted with satisfaction and surprise that the ants were still 

swarming around the sticky tape without being able to do anything about it. I got up early next 

morning to find the ants were climbing up the wall of the house and then on to the leaves of the 

tree. I realized sadly that I had been completely defeated by their ingenuity. The ants had been 

quick to find an answer to my thoroughly unscientific methods. 
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2.1    Answer the following questions in30- 40 words.                                    (2x3=6) 

                  1.  What is our attitude towards insects? 
                2.   Why does man try to exterminate insects? 

3. What did the writer do to prevent the ants from reaching the Aphids?  
    Was it successful? 

2.2 Answer in not more than 20 words.        (1x2=2) 
1. Why does the writer say that knowing about insects does not make man change his 

attitude towards insects? 
2. What was the reason that the leaves of the tree were beginning to wither in 

summer? 

2.3   Give an apt title to the given passage        (1) 

2.4    Make a sentence with ‘pounce.         (1) 

Section – B  (Writing)     (15 Marks) 

   3.  Read the conversation given below and write a message  for the same      (4) 

Manasi : Hello! Is this Dhruvi? 

Dhruvi : Hi Manasi!  How are you? 

Manasi : Dhruvi, Vinu Aunty is here from Sri Lanka. She is here for a couple  

  of days.  

Dhruvi : Really! When is she going to meet us? 

Manasi : I knew that you would be excited to hear about Vinu Aunty. She is   

coming to our place in the evening at around 5 O’ Clock. After that, she   has 
to go to her sister-in-law’s place. So why don’t you and your Mom come over 
in the evening ? 

           Dhruvi : We all be there by 5 p.m. 

           Manasi : See you then. 

           Dhruvi : Bye Manasi. 

          Dhruvi had to leave for table tennis coaching so she left a message to her mother.       

          Write the message to her mother in not more than 50 words. 

OR 
 Aman Singh writes an email to the Principal of his school, Govt. Senior Secondary School, 
Durga Colony Agra, about its insanitary and poor conditions. He also requests to take 
immediate steps to improve these conditions. Write this E-mail on his behalf in minimum 
80-100 words. 

4 . Hockey is your favourite sport but the game has not been given its due by the government, 
so much so that its players were not even felicitatedwhen they returned home after winning 
the World Cup. Write a speech to be delivered at the Sports Club expressing your anguish 
at the attitude of the government in not more than 100 words.       [5] 

       OR 
 “A slum is not chaotic collections of structures, it is a dynamic collection of individuals who 
have figured out how to survive in the most adverse of circumstances”. “Slums are a 
national problem and if not curbed, it is going to adopt disastrous consequences”. Based on 
these statements write an article on the topic, ‘SLUMS OF INDIA’ in not more than 100 
words. 
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5. Sudhir/Sumedha Bakshi is the special correspondent for the Hindustan Times, Hyderabad. 
You are asked to cover an incident of daylight robbery on the outskirts of Hyderabad, while 
the inmates were present in the house. Write a report in not more than 120 words.           [6] 

     OR 
There is a Senior Secondary School running right in the middle of South Office Para. In the 
morning as well as in the afternoon the road passing in front of the school is congested with 
school buses , mini buses, private cars etc. Write a letter in 100-120 words to the Deputy 
Commissioner (Traffic) to provide at least two traffic   police constables to regulate the 
traffic. You are Gautam/Geeta , A-21, Akashdeep Apartment , South Office Para, Ranchi.  

        Section C (Grammar)         (20 Marks) 

6.  Write the Subject  and predicate in following sentence :     (1 marks) 

1. Use a Zebra crossing to cross the road. 

7. Pick up the adjective/adverb/noun clauses in the following sentences   (½X2=1) 

1. Don’t believe what he tells you. 

2. The tiger which had been hurt in a shoot out turned into a man-eater. 

8. Fill in the blank with correct verb form:       (½x2=1) 

1.  The aeroplane in which the team _________ (travel) crashed soon after taking off. 

2. We _________ for more than four hours before we found a small hotel.(drive) 

9. Correct the following sentence :        (1X1=1)  

 1.  I left Bihar before the earthquake occurred. 

10. Complete the following sentences with the non-finite forms of the verb given in the 

bracket.           (½X4=2) 

1. How old were you when you learnt __________? (sing) 

2. I don’t mind _________ home, but I would rather get a bus. (walk) 

3. I can not make a decision. I keep __________ my mind. (change) 

4. She had made her decision and refused _________ her mind. (change) 

11. Change the following sentences into passive voice:     (1X2=2)  

1. Amit is writing a letter.  
2. Call the ambulance at once. 

12. Change the sentences into indirect speech       (1X2=2) 

1. I said to the boys, “You should do your duty”. 
2. He said, “Last night I met a fool”. 

13. In the passage given below, one word has been omitted in each line. Write the missing 

word alongwith the word that comes before and the word that comes after it against the 

correct blank number.         (½X4=2) 

We are usually indulged two distinct types of   a) ____ _____  ___ 
reading, which performed differently. Young   b) ____ _____  ___ 
students have study for comprehension of the  c) ____ _____  ___ 
content. You must be totally involved the passage  d) ____ _____  ___ 
at hand.  
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14.  The following passage has not been edited. There is one error in each line. Write the 

incorrect word and the correction in the blank space provided against each line:  

            (½x1=2) 

       Incorrect    Correct 

The world for technology is  a) ________    _______ 

one area in what science is   b) ________    _______ 

isolating us. Expert predict  c) ________    _______ 

that very soon much people  d) ________    _______ 
will be able to work from home. 

15.  Do as directed           (1X6=6) 

1. Sale, Knee (Form the verbs from nouns) 
2. Day, Enemy (Form the adjectives from nouns) 
3. Outlet, Walking sticks (Explain the formation of the compound words) 
4. Lean, Meek (Write opposites ) 
5. You have followed the wrong _________. (Course, Coarse)(Choose the correct word) 
6. Bag and baggage (Make a sentence with the given phrase) 

                     Section – D  (Literature)         (25 Marks) 

16.  Answer the questions briefly:         (1X3=3) 

(a) “ The point in dispute was, as all the world knows, 
      to whom the said spectacles ought to belong.” 

1. Between whom did the contest arise? 
2. What was the bone of contention? 
3. Name the poem and the poet. 

OR 
  ‘Gathered like pearls in their alien graves, 
   Silent they sleep by the Persian waves 

1. What is the poem about? 
2. Explain ‘Gathered like pearls in their alien graves’. 
3. Identify the figure of speech in the first line. 

 
b) ‘I just found her like this”.        (1X3=3) 

 

1. Who is referred as ‘I’ and ‘Her’ in the given line? 
2. What happened to the bird that particular morning? 
3. Name the author and the chapter. 

OR 
  ‘He deserved it then, and you deserve it now’. 

1. Who said this to whom? 
2. Who is the ‘He’ being referred to? 
3. What this instance shows about Mr. Chips? 
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17.  Answer any four of the following questions in 30-40 words:    (2X4=8) 

1. Why did Gerald Durrel want his own zoo? 
2. How has Toru Dutt immortalised the Casuarina Tree? 
3. Why does the speaker feel afraid when he sees the clock? 
4. Why was Johnsy’s condition worrisome according to the doctor? 
5. What opinion do you have of Mr. Bennet as a father figure in ‘Elizabeth speaks her 

mind’? 
6. Who was the ‘Unauthorised guest’, the narrator is talking about? Why was the guest 

unauthorised? 

18. Answer the question in 50-60 words:       (4X1=4) 

Who was Ratan? Describe the relationship between the Postman and Ratan? 

OR 
Behrman has a dream. What was it? How does a masterpiece of Behrman save the life of 
Johnsy? 

 

19. What do you know about the farmer of Brobdingnag?  

(answer in 40-50 words)         (1X3=3) 

OR 

What would a character sketch of the King of Brobdingnag be?  

20. Answer any two question  in 30-40 words:      (2X2=4) 

1. How was Gulliver treated by the farmer’s daughter? 
2. What the King’s reactions were when Gulliver offered him the secret of bombs and 

guns? 
3. Describe the people of Brobdingnag. 
4. Give a short description of the capital city Lorbrulgrud. 

 
********* 
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Class:- VIII              

Subject- Mathematics

 
General Instructions:- 

1. All questions are compulsory.

2. The question paper consists of 30 questions divided into four sections   A, B ,C and 

D. Section A comprises of 6 questions of 1 mark each,   Section B comprises of 6 

questions of 2 marks each, section C comprises of 10 questions 

section D comprises of 8 questions 

3. Handwriting should be neat and clean.

4. There is no overall choice, h

may result in the loss of marks. 

5. Do the rough work in the right margin only.

 

1. Solve for x  :   1 – (x – 2) – [(x –

2. Natural numbers from 15 to 35 are written on separate cards and mixed well in a box. One 

card is drawn at random from it. What is the proba

prime number? 

3. A table marked at Rs 15,000 is available for Rs 14,400. Find the discount percent.

4. 1 litre = ________ cm³. 

1 m² = _________ cm². 

5. Evaluate   ( 2�� � 4��� � 2��. 

6. Factorize   9x�y� � 16. 

7. Find the number of sides of a regular polygon whose each interior angle measures 135°.

8. The shape of a garden is rectangular in 

the middle and semicircular at the ends as 

shown in the figure. Find the perimeter 

of the figure. 

9. Mass of the earth is 5.97� 10��

of their masses and express in standard form.

10. A 5 m 60 cm high vertical pole casts a shadow 3 m 20 cm long. Find at the same time the 

height of a pole which casts a sha

11. 120 men had food provision for 200 days. After 5 days, 30 men died due to an epidemic. 

How long will the remaining food last?

DELHI PUBLIC SCHOOL
SAIL TOWNSHIP, RANCHI 

ANNUAL EXAMINATION (2018-19)  

                         

Mathematics                            

All questions are compulsory. 

The question paper consists of 30 questions divided into four sections   A, B ,C and 

D. Section A comprises of 6 questions of 1 mark each,   Section B comprises of 6 

questions of 2 marks each, section C comprises of 10 questions of 3 marks each, 

comprises of 8 questions of 4 marks each. 

Handwriting should be neat and clean. 

There is no overall choice, however there are internal choices. Omission of steps 

may result in the loss of marks.  

Do the rough work in the right margin only. 

    Section- A                                                      

– 3) – (x- 1)] = 0. 

Natural numbers from 15 to 35 are written on separate cards and mixed well in a box. One 

card is drawn at random from it. What is the probability that the card drawn is bearing a 

A table marked at Rs 15,000 is available for Rs 14,400. Find the discount percent.

 

              Section- B      

Find the number of sides of a regular polygon whose each interior angle measures 135°.

The shape of a garden is rectangular in  

the middle and semicircular at the ends as  

shown in the figure. Find the perimeter  

��	kg and the mass of the moon is 7.35� 10��

of their masses and express in standard form. 

A 5 m 60 cm high vertical pole casts a shadow 3 m 20 cm long. Find at the same time the 

height of a pole which casts a shadow 6 m long. 

120 men had food provision for 200 days. After 5 days, 30 men died due to an epidemic. 

How long will the remaining food last? 
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The question paper consists of 30 questions divided into four sections   A, B ,C and 

D. Section A comprises of 6 questions of 1 mark each,   Section B comprises of 6 

3 marks each, 

owever there are internal choices. Omission of steps 

                                                      [1x6=6] 

Natural numbers from 15 to 35 are written on separate cards and mixed well in a box. One 

bility that the card drawn is bearing a 

A table marked at Rs 15,000 is available for Rs 14,400. Find the discount percent. 

  [2x6=12] 

Find the number of sides of a regular polygon whose each interior angle measures 135°. 

��kg. Find the sum 

A 5 m 60 cm high vertical pole casts a shadow 3 m 20 cm long. Find at the same time the 

120 men had food provision for 200 days. After 5 days, 30 men died due to an epidemic. 



12.  Plot the following points on a graph sheet and join them in order. Identify the figure 

formed. A(4,3) , B(6,1) , C(6,5) , D(4,7). 

Section- C                                                            [3x10=30] 

13.  Represent  
��

�
,
�

�	
	 ,
��

�
  on the same number line. 

14. A labour is engaged for 20 days on the condition that he will receive Rs 60 for each day he 

works and he will be fined Rs 5 for each day, he is absent. If he receives Rs 745 in all, for 

how many days he remained absent? 

15. The diagonals of a rhombus measure 40 cm and 30 cm. Find its area and perimeter. 

16. Some toffees are bought at the rate of 11 for Rs 10 and the same number at the rate of 9 for 

Rs 10. If the whole lot is sold at 1 rupee per toffee, find the gain or loss percent in the whole 

transaction. 

17. The population of a place increased to 54,000 in 2003 at the rate of 5% p.a. 

(i) Find the population in 2001. 

(ii) What would be its population in 2005? 

18. If a� + b� + c� � ab � bc � ca = 0, then prove that a= b= c.  

                                                      OR 

Evaluate using suitable identities. 

(i) 1.05�9.5 

(ii) (2.5p � 1.5q�² �	(1.5p � 2.5q��. 

19. Draw the top, side and front  

view of the given solid.  

 

 

                                                       OR 

Draw a rectangular pyramid and verify Euler’s formula for it. 

20. A solid cylinder has total surface area of 462 cm². Its curved surface area is one-third of its 

total surface area. Find the volume of the cylinder. ( Take � =
��

�
� 

                                                       OR 

A solid cube is cut into two cuboids of equal volumes. Find the ratio of the total surface 
area of the given cube and that of one of the cuboids.                                                  

21. Factorize     ( � � 4 �² �9( � � 4 � � 36. 

22. Without performing actual division, find the remainder when 928174653 is divided by 11. 

Pg-2 of 3 

 



      Section- D                                             [4x8=32] 
23. Construct a quadrilateral TRUE in which TR= 6.5 cm, RU= 5 cm, UE= 7 cm, ∠R =

75°	and	∠U = 120°. 
24. The adjoining pie chart gives the marks  

scored in an examination by a student in 
 various subjects. If the total marks obtained 
 by the student was 540, answer the following: 
 
 
 
(i) In which subject did the student score 105 marks? 

(ii) How many more marks were obtained by the student in Mathematics than in Hindi? 

(iii) Find the ratio of marks scored in Science to that in Hindi. 

(iv) How much more is the sum of marks obtained in Social Science and Mathematics 

than the sum of marks in Science and Hindi?  

 
25. The area of a square field is 12544 m². A rectangular field, whose length is 24 m more than 

its breadth, has its perimeter equal to the perimeter of the square field. Find the area of the 

rectangular field. 

26. Find whether 26244 is a perfect cube or not. If not find the smallest number by which it 

should be    (i) multiplied    (ii) divided       to make it a perfect cube. Also find the cube root 

of the new perfect cube number formed in both cases. 

27. Simplify the given expression and verify the result for s=1 and t =(-1). 

 4st(s � t� � 6s�(t � t�� � 3t�(2s� � s� + 2st(s � t�. 

28. Simplify: (i) 
���-./

�.0��1�-.2
                                (ii) 

3.4��1.4����

�.5��.4
     

OR 

If 3�6 = 81�� and 10
� 89 = 0.0001,  find the value of  2�6:�8. 

29. Factorize the expressions and divide them as directed. 

(i) 44(x� � 5x3 � 24x�� � 11x(x � 8� 

(ii) z(5z� � 80� � 5z(z� + 8z + 16� 

                                                          OR  

Factorize: (i) x� + x� + 1                             (ii) a� �
�

</
. 

30. On a graph sheet draw the graph for the S.I on deposits for a year. 

Deposit (in Rs) 1000 2000 3000 4000 5000 

S.I (in Rs) 80 160 240 320 400 

 Use the graph to find  
(i) the interest on Rs 2500 for a year, 

(ii) the money to be deposited to get an interest of Rs 280 per year. 
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I. Very short answer questions:
 

1. Mention the nature of charges on a glass rod and silk cloth when both of them 
are rubbed with each other .   

2. A star is located 10 light years away from the earth
After  how much time shall we see the change ?

3.   Write two advantages of lightening.
4.   Birds having night vision have large cornea and a large pupil. How does this 
      structure help them ? 
5. How the variation of pressure exerted by a liquid depend with respect to the 

following factors . 
(a)  depth        

II. Short answer  questions:-   
 

6. A cylindrical pole of diameter 14 cm having weight 100N is erected on the 
ground.  Calculate the pressure it is exerting on the ground.

7. Define diffused reflection. Does diffused reflection mean the failure of the laws 
of reflection ? 

8. (a) Write any two advantages of friction
      (b) What are the factors on which force of friction depends ?  

9.  Why do we always  face the same side of the moon ?

III. Long answer questions :-  
 

10.  (a) Differentiate between short 
                   is corrected ? 

        (b) State the laws of reflection.
11. ( a) What is an electrolyte? Name the electrolyte used in electroplating of iron 

       rod with copper. 
        (b) State three advantages of 

12.  (a) A child whistles standing in front of a hill at a distance of 1000m.He hears 
      the echo of his sound after 5 seconds. Find the speed of sound.

        (b) Sketch the wave form of a high pitch and low pitch sound. 

IV. Very long answer type questions

13. (a) What is an electroscope ? Sketch a labeled diagram
        (b) Describe how an electroscope is used to test 

      a charge or not. 
(c) What is earthing ?  

DELHI PUBLIC SCHOOL
SAIL TOWNSHIP, RANCHI 
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              PHYSICS 

Very short answer questions:-           

Mention the nature of charges on a glass rod and silk cloth when both of them 
are rubbed with each other .    

years away from the earth. It brighten up suddenly today
how much time shall we see the change ? 

Write two advantages of lightening. 
Birds having night vision have large cornea and a large pupil. How does this 

ow the variation of pressure exerted by a liquid depend with respect to the 

 (b) shape and size of the container 

       

A cylindrical pole of diameter 14 cm having weight 100N is erected on the 
Calculate the pressure it is exerting on the ground. 

Define diffused reflection. Does diffused reflection mean the failure of the laws 

advantages of friction 
b) What are the factors on which force of friction depends ?   

Why do we always  face the same side of the moon ? 

       

a) Differentiate between short - sightedness and long - sightedness

b) State the laws of reflection. 
a) What is an electrolyte? Name the electrolyte used in electroplating of iron 

b) State three advantages of electroplating. 
a) A child whistles standing in front of a hill at a distance of 1000m.He hears 

the echo of his sound after 5 seconds. Find the speed of sound. 
b) Sketch the wave form of a high pitch and low pitch sound.  

wer type questions:-       

cope ? Sketch a labeled diagram. 
b) Describe how an electroscope is used to test whether an object is carrying 
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  [1x5= 5] 

Mention the nature of charges on a glass rod and silk cloth when both of them  

. It brighten up suddenly today. 

Birds having night vision have large cornea and a large pupil. How does this  

ow the variation of pressure exerted by a liquid depend with respect to the  

  [2 x4 = 8] 

A cylindrical pole of diameter 14 cm having weight 100N is erected on the  

Define diffused reflection. Does diffused reflection mean the failure of the laws  

  [3 x3 =9] 

edness .How it  

a) What is an electrolyte? Name the electrolyte used in electroplating of iron  

a) A child whistles standing in front of a hill at a distance of 1000m.He hears  
 

   [5] 

an object is carrying  



 
OR 

     (a) Explain how you locate the pole star with the help of Ursa major constellation. 
     (b) Differentiate between a meteor and a meteorite. 
     (c) Explain why the number of meteors  striking the moon’s surface is quite  

      large whereas very few reach the earth’s surface . 
   

CHEMISTRY  
I. Very short answer questions:-           [1x5= 5] 

 
1.   a) An element forms an oxide which is acidic in nature . Is the element metal  

    or non metal ? 

   b)Name the non metal which is used as a fuel ?                                           

2.  Why rayon is different from other synthetic fibres ?                                  

3. Name the process of separation of different constituents from petroleum?        

4. Name the combustion in which heat, light and sound is produced?   

5. What is formed by the reaction of carbon monoxide with haemoglobin of blood?   

II. Short answer  questions:-         [2 x4 = 8] 

6. Should the handles and bristles of a tooth brush be made of the same material?  

    Explain your answer.    

7. What are the advantages of using CNG and LPG as fuel ?                                            

8. Draw a detail well labelled diagram of  a candle flame .                                                

9. 90,000 KJ heat was produced by complete combustion of fuel whose calorific value  

    is 30,000 KJ / KG .Calculate the amount of fuel burnt.     
   

III. Long answer questions:-         [3 x3 =9] 

10.  (a)What will happen : 

i) Zinc Sulphate + Copper ---------- � ? 

ii) Copper Sulphate + Iron ---------- �  ? 

(b) Which gas is evolved when sodium reacts vigorously with water ?     

11. (a) Water is not suitable fire extinguisher for oil and petrol fire . Explain, why ? 

      (b) Explain the working of soda acid fire extinguisher only with the help of diagram  
          and word equation.           
12. Complete the following table : 
 

Sl No Air Pollutant Source Effects 

1 CFC   

2  Incomplete 
combustion 

 

3   Acid rain 
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IV.  Answer any one : A or B           [2+3=5] 

13. A.   a) Write two natural and two man made sources responsible for causing  

     air pollution.  

b) What is global warming ? How does it affect us?                                         
OR 

B. a) Write two methods for reducing air pollution . 

   b) What is the Ganga Action plan ? Why was it introduced?                       
 

BIOLOGY 

I. Very short answer questions:-           [1x4= 4] 
 

1. Write two reasons why tribals depend on jungles? 

2. Write two differences between zygote and foetus. 

3. Write two characteristics of a good seed. 

4. Write two disadvantages of manure. 

 

II.      Short answer  questions:-         [2 x4 = 8] 
 

5. Draw a well labelled diagram of animal cell. 

6. What are secondary sexual characters? Write any two secondary sexual characters in 

boys? 

7. Write short notes on Bacteria &Algae. 

8. Write any two differences between prokaryotic and eukaryotic cell. 

III.      Long answer questions:-         [3 x3 =9] 

9. Write three consequences of desertification. 

10. What will happen if the habitat of an animal is disturbed? (Write any 3 points) 

11. Give reasons 

i. Why sperms have long tails? 

ii. Why do frogs lay hundreds of eggs where as human releases one egg? 

iii. Why is IVF method adopted in few cases? 

 

 IV.   Answer any one : A or B             [2+3=5] 

12. A.  (a) Write three characteristics of hormones. 

(b) Explain the process of sex determination in an unborn baby. 

 

OR 
 

B. (a) What are sex hormones? What are their functions? 

(b) Draw a well labelled diagram showing female sex organs in humans. 

 

******* 
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1.  Give one reason each for the following statements:

(a) European trading companies were attracted to India in 16

(b) Sepoys had objections to the new cartridges that they were asked to use.

(c) Indian iron smelting Industry decline by the late 19

(d) Dr. B R Ambedkar  started a Temple  Entry moveme

2. Define:-        

(a) Impeachment     (c)
(b) Orientalist   (d)

3.  Short answer :-     

(a) What were the areas of conflict between the Bengal Nawabs and the East India 
Company? 

(b) How did the knowledge of ancient texts help the reformers to promote new 

(c) Why did Mahatma Gandhi think that English education had enslaved 

    Why  did he  wanted to teach Children Handicrafts?

(d) What economic impact did the First World War have on India?

(e) What was the role of the Planning commission

4.  Answer in detail.    

A. In what ways did the British change their policies as a 

1.  Define :-     

(a) Coalition   (b) Unresolved
2.  Answer the following:   

(a) Why do think our National movement supp
    Right to vote?   
(b) State reasons why historians refute the claim that the British introduced the Rule of 

Law? 
(c) List reasons why Adivasis are becoming increasingly marginalized?
(d) Why are most of the Private hospitals and private schools  located in major cities and 
      not in towns or rural areas?
(e) What are the advantages to foreign companies in setting up production in India ?

3. Answer in detail     
(a) What is Fair Trial and what are its essential elements?
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ANNUAL  EXAMINATION (2018-19)

                                                                             Subject:-

                                   F.M. :- 80

   
HISTORY 

for the following statements:-      

companies were attracted to India in 16th century onwards.

Sepoys had objections to the new cartridges that they were asked to use.

Industry decline by the late 19th century. 

Dr. B R Ambedkar  started a Temple  Entry movement . 

       

) Bandanna 
) Revolutionary violence 

       

What were the areas of conflict between the Bengal Nawabs and the East India 

How did the knowledge of ancient texts help the reformers to promote new 

Why did Mahatma Gandhi think that English education had enslaved 

d to teach Children Handicrafts? 

What economic impact did the First World War have on India? 

role of the Planning commission? 

       

A. In what ways did the British change their policies as a result of the revolt

CIVICS 
       

Unresolved  (c) Repressive   (d) Ostracise
       

Why do think our National movement supported the idea that all adults 

State reasons why historians refute the claim that the British introduced the Rule of 

List reasons why Adivasis are becoming increasingly marginalized? 
Why are most of the Private hospitals and private schools  located in major cities and 
not in towns or rural areas? 
What are the advantages to foreign companies in setting up production in India ?

       
What is Fair Trial and what are its essential elements? 
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  (1x4=4)    

century onwards. 

Sepoys had objections to the new cartridges that they were asked to use. 

  (1x4=4 ) 

  (3x5=15) 

What were the areas of conflict between the Bengal Nawabs and the East India 

How did the knowledge of ancient texts help the reformers to promote new laws? 

Why did Mahatma Gandhi think that English education had enslaved Indians?  

  (1x5=5) 

result of the revolt of 1857? 

  (1x4=4) 

Ostracise 
  (3x5=15) 

orted the idea that all adults must have a  

State reasons why historians refute the claim that the British introduced the Rule of 

Why are most of the Private hospitals and private schools  located in major cities and  

What are the advantages to foreign companies in setting up production in India ? 
    (1x5=5) 



GEOGRAPHY                                                                                      
                

1.   Answer the following questions in one word or one sentence:-                              (1x3=3) 

(a) Which crop is the staple diet of the tropical and subtropical regions? 

(b) What is Manufacturing? 

(c)  What is the average density of population in India?  

2.  Answer the following questions in short:-                                                                       (3x4=12) 

(a) Why are human resources important? 

(b) Differentiate between conventional and non conventional sources of energy. 

(c) Which city is known as ‘Manchester of Japan’? Describe any two factors those are 

responsible to develop cotton textiles industry here. 

(d) The world population has grown very rapidly. Why?          

3.  Answer the following questions in detail:-                                                                                                             
(a) Water availability per person in India is declining. Give two reasons. Suggest three 

ways to conserve water.              (2+3=5) 

(b) Name the agricultural method which is prevalent in the thickly populated areas of 
Monsoon regions. Write four characteristics of this method.                           (1+4=5) 

4.  On the outline political map of India locate and label the following items:             (1x3=3) 

(i) Iron & Steel producing centre - Rourkela 

(ii) Information Technology centre    -   Hyderabad 

(iii)   The state having highest sex ratio      

******** 
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d{kk& vkBd{kk& vkBd{kk& vkBd{kk& vkB            
            le;& le;& le;& le;& 3 ?kaV?kaV?kaV?kaVss ss             

 
uksV% lHkh iz”u vfuok;Z ,oa funsZ”kkuqlkj ikyu djrs gq, vadksuksV% lHkh iz”u vfuok;Z ,oa funsZ”kkuqlkj ikyu djrs gq, vadksuksV% lHkh iz”u vfuok;Z ,oa funsZ”kkuqlkj ikyu djrs gq, vadksuksV% lHkh iz”u vfuok;Z ,oa funsZ”kkuqlkj ikyu djrs gq, vadks

1. fuEufyf[kr xn~;ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fyf[k,A fuEufyf[kr xn~;ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fyf[k,A fuEufyf[kr xn~;ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fyf[k,A fuEufyf[kr xn~;ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fyf[k,A 
 etnwjh djus ls ân; ifo= gksrk gSA ladYi fnO; yksdkarj esa fopjrk gSA gkFk dh etnwjh ls gh lPps
,s”o;Z 

dh mUufr gksrh gSA tkiku esa eSaus ,slh dykdkj dU;kvksa vkSj fL=;ksa dks ns[kk gS fd os js”ke ds NksVs&NksVs 
VqdM+ksa dks viuh nLrdkjh dh cnkSyr gt
vkSj n`”;ksa dks viuh lwbZ ls diM+s ds Å
dh cM+h vPNh ewfrZ;k¡ cukrs gSaA djksM+ksa :i;ksa ds gkFk ds cus gq, tkikuh f[kykSus fons”kksa esa fcdrs gSaA gkFk 
dh cuh gqbZ tkikuh pht+sa e”khu ls cuh gqbZ phtksa dks ekr djrh gSaA lalkj ds lc ckt
ek¡x jgrh gSA if”peh ns”kksa ds yksx gkFk dh cuh 
tkikuh rRoKkuh dk dFku gS fd gekjh nl djksM+ m¡xfy;k¡ lkjs dke djrh gSaA 
laHko gS] ge txr dks thr ysaA tc&
gksrh] rc&rd Hkkjro’kZ gh D;k] fdlh Hkh ns”k ;k tkfr dh nfjnzrk nwj ugha gks ldrhA ;fn Hkkjr dh 
ipkl djksM+ uj&ukfj;ksa dh m¡xfy;k¡ feydj dkjhxjh ds dke djus yxsa] rks mudh etnwjh dh cnkSyr 
dqcsj dk egy muds pj.kksa esa vki&gh&
(d) etnwjh djus ls D;k gksrk gS
([k) tkiku dh dykdkj efgyk,¡ D;k djrh gSa
(x) tkikuh yksx fo”o esa fdlds fy, tkus tkrs gSa
(?k) tkikuh rRoKkuh dk D;k dFku gS
(³)  xn~;ka”k ls vuqLokj vkSj vuqukfld yxs ,d&,d “kCn Nk¡Vdj 

2. fuEufyffuEufyffuEufyffuEufyf[kr in~;ka”k dks i<+dj blds iz”uksa ds lgh fodYiksa dks pqudj fy[k,& [kr in~;ka”k dks i<+dj blds iz”uksa ds lgh fodYiksa dks pqudj fy[k,& [kr in~;ka”k dks i<+dj blds iz”uksa ds lgh fodYiksa dks pqudj fy[k,& [kr in~;ka”k dks i<+dj blds iz”uksa ds lgh fodYiksa dks pqudj fy[k,& 
        eSa <w¡<rk rq>s Fkk] tc dqat vkSj ou esa
  rq [kkstrk eq>s Fkk] rc nhu ds opu esaA
   rw vkg cu fdlh dh] eq>dks iqdkjrk Fkk]
   eSa Fkk rq>s cqykrk laxhr esa] Hktu esaA
  esjs fy, [kM+k Fkk] nqf[k;ksa ds n~okj
  eSa ckV tksgrk Fkk] rsjh fdlh peu esaA
   cudj fdlh ds vk¡lw esjs fy, cgk rw
   vk¡[ksa yxh Fkha esjh rc eku vkSj /ku esaA
  cscl fxjs gqvksa ds rw chp esa [kM+k Fkk]
  eS LoxZ ns[krk Fkk] >qdrk dgk¡ pju
   rwus fn, vusd volj] u fey ldk eSa]
   rw deZ esa eXu Fkk] eSa O;Lr Fkk
  dSls rq>s feyw¡xk] tc HkhM+ bl dnj gS]
  gSjku gks ds Hkxoku] vk;k gw¡ 

 (d) dfo us *eSa* vkSj *rqe* dk lacks/ku fdlds fy, fd
 ([k) dfo Hkxoku ds pj.kksa esa D;ksa ugha >qd ik;k
 (x) *nhu* vkSj *csol* “kCn dk vFkZ fy[ksaA
 (?k) *lju* vkSj *pju* dk izpfyr:i fy[ksaA

3. funsZ”kkuqlkj O;kdj.k vk/kkfjr fdUgha N% 
(d) fgUnh Hkk’kk dh fyfi fy[ksaA 

fnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡ph 
                                                    okf"kZd ijh{kk okf"kZd ijh{kk okf"kZd ijh{kk okf"kZd ijh{kk (2018-19)     

                                                                
                                                

uksV% lHkh iz”u vfuok;Z ,oa funsZ”kkuqlkj ikyu djrs gq, vadksuksV% lHkh iz”u vfuok;Z ,oa funsZ”kkuqlkj ikyu djrs gq, vadksuksV% lHkh iz”u vfuok;Z ,oa funsZ”kkuqlkj ikyu djrs gq, vadksuksV% lHkh iz”u vfuok;Z ,oa funsZ”kkuqlkj ikyu djrs gq, vadksaa aa    ds vk/kkj ij “kCnksa dk iz;ksx dj mds vk/kkj ij “kCnksa dk iz;ksx dj mds vk/kkj ij “kCnksa dk iz;ksx dj mds vk/kkj ij “kCnksa dk iz;ksx dj m
            [[k.M & d[k.M & d[k.M & d[k.M & d]    

fuEufyf[kr xn~;ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fyf[k,A fuEufyf[kr xn~;ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fyf[k,A fuEufyf[kr xn~;ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fyf[k,A fuEufyf[kr xn~;ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fyf[k,A             
etnwjh djus ls ân; ifo= gksrk gSA ladYi fnO; yksdkarj esa fopjrk gSA gkFk dh etnwjh ls gh lPps

gSA tkiku esa eSaus ,slh dykdkj dU;kvksa vkSj fL=;ksa dks ns[kk gS fd os js”ke ds NksVs&NksVs 
ksa dks viuh nLrdkjh dh cnkSyr gt+kjksa dh dher dk cuk nsrh gSa; ukuk izdkj ds izkd̀frd inkFkksZ

dks viuh lwbZ ls diM+s ds Åij vafdr dj nsrh gSaA tkiku&fuoklh dkxt] ydM+h vkSj iRFkj 
ewfrZ;k¡ cukrs gSaA djksM+ksa :i;ksa ds gkFk ds cus gq, tkikuh f[kykSus fons”kksa esa fcdrs gSaA gkFk 

sa e”khu ls cuh gqbZ phtksa dks ekr djrh gSaA lalkj ds lc ckt
ek¡x jgrh gSA if”peh ns”kksa ds yksx gkFk dh cuh gqbZ tkiku dh vn~Hkqr oLrqvksa 

Kkuh dk dFku gS fd gekjh nl djksM+ m¡xfy;k¡ lkjs dke djrh gSaA bUgha m¡xfy;ksa ds cy ls] 
aHko gS] ge txr dks thr ysaA tc&rd /ku vkSj ,s”o;Z dh tUenk=h gkFk dh dkjhxjh dh mUufr ugha 

fdlh Hkh ns”k ;k tkfr dh nfjnzrk nwj ugha gks ldrhA ;fn Hkkjr dh 
xfy;k¡ feydj dkjhxjh ds dke djus yxsa] rks mudh etnwjh dh cnkSyr 

dk egy muds pj.kksa esa vki&gh&vki vk fxjsA 
etnwjh djus ls D;k gksrk gS\        
tkiku dh dykdkj efgyk,¡ D;k djrh gSa\       
tkikuh yksx fo”o esa fdlds fy, tkus tkrs gSa\      

uh dk D;k dFku gS\      
vuqLokj vkSj vuqukfld yxs ,d&,d “kCn Nk¡Vdj Øe ls fy[ksaA 

[kr in~;ka”k dks i<+dj blds iz”uksa ds lgh fodYiksa dks pqudj fy[k,& [kr in~;ka”k dks i<+dj blds iz”uksa ds lgh fodYiksa dks pqudj fy[k,& [kr in~;ka”k dks i<+dj blds iz”uksa ds lgh fodYiksa dks pqudj fy[k,& [kr in~;ka”k dks i<+dj blds iz”uksa ds lgh fodYiksa dks pqudj fy[k,&     
rq>s Fkk] tc dqat vkSj ou esa]  

rq [kkstrk eq>s Fkk] rc nhu ds opu esaA 
rw vkg cu fdlh dh] eq>dks iqdkjrk Fkk] 
eSa Fkk rq>s cqykrk laxhr esa] Hktu esaA 

Fkk] nqf[k;ksa ds n~okj ij rw] 
eSa ckV tksgrk Fkk] rsjh fdlh peu esaA 

cudj fdlh ds vk¡lw esjs fy, cgk rw] 
vk¡[ksa yxh Fkha esjh rc eku vkSj /ku esaA 

cscl fxjs gqvksa ds rw chp esa [kM+k Fkk] 
qdrk dgk¡ pju esaA 

volj] u fey ldk eSa] 
w deZ esa eXu Fkk] eSa O;Lr Fkk dFku esaA 

dSls rq>s feyw¡xk] tc HkhM+ bl dnj gS] 
gSjku gks ds Hkxoku] vk;k gw¡ vc lju esaA 

* dk lacks/ku fdlds fy, fd;k gS\     
dfo Hkxoku ds pj.kksa esa D;ksa ugha >qd ik;k\       

“kCn dk vFkZ fy[ksaA       
dk izpfyr:i fy[ksaA        

[[k.M & [k.M & [k.M & [k.M & [k[k[k[k]    
fdUgha N% iz”uksa ds mÙkj fy[ksa&             

                                            fo"k;&fgUnhfo"k;&fgUnhfo"k;&fgUnhfo"k;&fgUnh    
                            iw.kkZad & 8iw.kkZad & 8iw.kkZad & 8iw.kkZad & 80000    

ds vk/kkj ij “kCnksa dk iz;ksx dj mds vk/kkj ij “kCnksa dk iz;ksx dj mds vk/kkj ij “kCnksa dk iz;ksx dj mds vk/kkj ij “kCnksa dk iz;ksx dj mÙkj iw.kZ djsaAÙkj iw.kZ djsaAÙkj iw.kZ djsaAÙkj iw.kZ djsaA    

        [9] 
etnwjh djus ls ân; ifo= gksrk gSA ladYi fnO; yksdkarj esa fopjrk gSA gkFk dh etnwjh ls gh lPps 

gSA tkiku esa eSaus ,slh dykdkj dU;kvksa vkSj fL=;ksa dks ns[kk gS fd os js”ke ds NksVs&NksVs 
ukuk izdkj ds izkd̀frd inkFkksZa 

SaA tkiku&fuoklh dkxt] ydM+h vkSj iRFkj 
ewfrZ;k¡ cukrs gSaA djksM+ksa :i;ksa ds gkFk ds cus gq, tkikuh f[kykSus fons”kksa esa fcdrs gSaA gkFk 

sa e”khu ls cuh gqbZ phtksa dks ekr djrh gSaA lalkj ds lc ckt+kjksa esa mudh cM+h 
 ij tku nsrs gSaA ,d 

bUgha m¡xfy;ksa ds cy ls] 
rd /ku vkSj ,s”o;Z dh tUenk=h gkFk dh dkjhxjh dh mUufr ugha 

fdlh Hkh ns”k ;k tkfr dh nfjnzrk nwj ugha gks ldrhA ;fn Hkkjr dh 
xfy;k¡ feydj dkjhxjh ds dke djus yxsa] rks mudh etnwjh dh cnkSyr 

  [2] 
  [2] 
  [2] 
  [2] 

   [1] 

  [2] 

  [2] 

  [1] 

  [1] 

 [½X6=3] 



([k) la;qDr O;atu (o.kZ) dk ,d mnkgj.k nsaA 
(x) *mUufr* “kCn dk ,d i;kZ;okph “kCn fy[ksaA 
(?k) *psru* “kCn dk foykse fy[ksaA 
(³) *ukxfjd* “kCn ds fy, vusd “kCn fy[ksaA 
(p) milxZ &izR;; yxk “kqn~/k “kCn Nk¡Vs & vp<+ko] vfrp<+ku] lQyrk] lq;ksx 
(N) *fn, x, vFkZ ds fy, mfpr eqgkojs dk iz;ksx djsa& ìFkd j[kuk  
(t) mlds ---------------------- esa nnZ gks jgk gSA  (m/kj] mnj) 

4. (d) deZ ds vk/kkj ij fn, x, okD; esa fØ;k Hksn crk,&       [2] 

  og fuca/k fy[k jgk gSA 
  og lks jgk gSA 
 ([k) jhfrokpd fØ;kfo”ks’k.k vkSj LFkkuokpd fØ;k&fo”ks’k.k esa varj Li’V djsaA     [2] 

(x) fn, x, okD; esa yxs fojke fpUg dk uke fy[ksa&        [1] 
eSaus ,e0,0 dh ijh{kk ikl dh gSA 

(?k) fdlh ,d dk okD; iz;ksx n~okjk fyax fu.kZ; djsa&       [1] 
fgeky;]  e`R;q 

(³) fn, x, yksdksfDr dk vFkZ fy[kdj okD; fuekZ.k djsa&       [1] 
 va/kksa esa dkuk jktk vFkok ,d iaFk nks dkt  

[[k.M & x[k.M & x[k.M & x[k.M & x] 

5. fn, x, iz”uksa ds mÙkj vius “kCnksa esa nsa&               
[½X6=3] 

(d) *cl dh ;k=k* ikB ds vk/kkj ij crk, fd og dkSu Fkk] tks mlh cl ls lacaf/kr Fkk vkSj ;k=k dj  
    jgk Fkk\               

([k) **czsd Qsy gks ldrk gS] LVh;fjax VwV ldrk gSA** okD; fdldh mfDr gS\ 
 (x) *i{kh vkSj ckny* dks D;k dg dj & lEcksf/kr fd;k x;k gS\ 
(?k) *nhokuksa dh gLrh* dfork ds ys[kd dk uke fy[ksa\  
(³) dfo us *nhokuksa dh gLrh* dfork ds ek/;e ls dSlk I;kj yqVkdj pyus dh ckr dgh gS\ 
(p) ikB~;Øekuqlkj jke/kkjh flag *fnudj* n~okjk jfpr ikB dk uke fy[ksaA 

6. fn, x, iz”uksa ds mÙkj fy[ksa&         [1X3=3] 
(d) dfo us D;ksa dgk gS fd vHkh u gksxk esjk var\  
([k) i= tSlk larks’k dkSu ugha ns ldrk\ 
(x) lqnkek dh nhu n”kk ns[k d`’.k dh euksn”kk D;k gqbZ\     

7. fn, x, y?kqmÙkjh; iz”uksa ds mÙkj ;FkklaHko viuh Hkk’kk esa fy[ksa &      [2X4=8] 
(d) ifBr ikB ds vk/kkj ij crk,¡ & fdu nks LFkkuksa dk o.kZu ikB esa fuca/kdkj us fd;k tgk¡ mUgsa  
      fujk”kk dh rqyuk esa vk”kk vf/kd feyh\  
([k) dchj us ?kkl ds ek/;e ls fdldh fuank ugha djus dks dgk gS vkSj D;ksa\ 
(x) vkyevkjk ds 25 o’kZ  gksus ds nkSjku vius lEekfur gksus ij fdlus vkSj D;k dgk\  
(?k) d̀’.k dks ek¡ D;k f[kykuk pkgrh gS ,oa fdl yksHk ls os blds fy, rS;kj gq,\ 
 

8. funsZ”kkuqlkj iz”uksa ds mÙkj fy[ksa&           [2] 

  *nq%[k vkSj lq[k nksuksa thou esa egRo j[krs gSaA nq[k vkus ij fopfyr ugha gksuk pkfg, uk gh lq[k  
 vkus ij vfrgf’kZr* & *lqnkekpfjr* ikB ds vk/kkj ij okD; fln~/k djsa A 

vFkokvFkokvFkokvFkok    

 *fe=rk dk _.k vo”; pqdkuk pkfg,* lqnkekpfjr ikB ds vk/kkj ij crk,¡A 

9. fdlh ,d in dk p;u dj HkkokFkZ fy[ksa& 
 tkfr u iwNks lk/k dh ] iwN fyft, KkuA 
 eksy djks ryokj dk] iM+k jgu nks E;kuAA         [1X2=2] 



;k  
 rsjSa yky esjkS ek[ku [kk;kSA 
 nqigj fnol tkfu ?kj lwuks <w¡f<+ <¡<+ksfj vkigh vk;kSA 
10. ifBr xn~;ka”k dks i<+dj fuEukafdr iz”uksa ds mÙkj fy[ksa&      [1X3=3] 

 *eq>s yxk mls nek gSA voLFkk ds lkFk&lkFk mldk “kjhj <y pqdk FkkA mlds gkFkksa ij vkSj ekFks ij ulsa 
 mHkj vkbZ FkhaA 

(d) izLrqr iafDr;k¡ fdl ikB dh gS ,oa fduds n~okjk jfpr gS\ 
([k) fdls yxk fd mls nek gS\ 
(x) izLrqr iafDr;ksa esa fdlds “kjhj dk fp=.k gS\ 

11. fn, x, nh?kZmÙkjh; iz”uksa ds mÙkj fy[ksa&        [3X3=9] 

 (d) dkepksj dgkuh ds ek/;e ls dgkuhdkj us D;k lans”k fn;k ,oa fdUgsa dkepksj dh laKk nh xbZ\ 
 ([k) ifg;ksa us iqMqdksÍbZ dh efgykvksa dk lokZaxh.k fodkl fd;k] dSls\ 

(x) ?kk;yoLFkk esa Hkh ckt D;k djus dh bPNk j[krk Fkk vkSj D;ksa\ 

12. *Hkkjr dh [kkst* iqLrd ij vk/kkfjr fdUgha ik¡p iz”uksa ds mÙkj fy[ksa&     [2X5=10] 

 (d) dfyax ;qn~/k ds i”pkr v”kksd ds ân; esa D;k ifjorZu gqvk\  

([k) vehj [kqljks ds izfln~/k gksus ds dkSu &dkSu ls dkj.k Fks\  
(x) lj lS;n vgen [kk¡ us fdl fo”ofo|ky; dh LFkkiuk dh vkSj ;g dgk¡ fLFkr gS\ 
(?k) “ksj”kkg us fdl O;oLFkk dh uhao Mkyh Fkh vkSj dkSu lk vf/kdkjh vdcj ds njckj esa fu;qDr Fkk\ 
(³) czg~e lekt dh LFkkiuk fdlus dh vkSj mUgksaus fdl izFkk dk fojks/k fd;k\ 
(p) vk;Zlekt dk D;k ukjk Fkk ,oa Hkxonxhrk ds “yksdksa dh la[;k fy[ksaA 
(N) *yhykorh* fdlds n~okjk jfpr gS ,oa fdl fo’k; ls lacaf/kr gS\ 
(t) xk¡/kh th dh f”k{kk dk lkj D;k Fkk\ 

 
[[k.M & ?k[k.M & ?k[k.M & ?k[k.M & ?k] 

13. fdlh ,d fo’k; ij vuqPNsn fy[ksa&           [5] 
 (d) jkstxkj esyk  ([k) vkRefuHkZrk  (x) LoPNrk  
 
14. izkpk;Z dks varjfon~;ky;h fØdsV eSp vk;kstu djus laca/kh fuosnu i= fy[ksaA    [5] 

vFkokvFkokvFkokvFkok    
 izkpk;Z dks ijh{kk ls iwoZ ruko ls eqfDr gsrq ,d dk;Z”kkyk ds vk;kstu laca/kh fuosnu i= fy[ksaA  

 
15. fdlh lkbfdy dh fcØh laca/kh foKkiu 20&30 “kCnksa esa fy[ksaA       [5] 

vFkokvFkokvFkokvFkok    
 fp= dks /;kuiwoZd ns[krs gq, mRiUu fopkjksa dks 20&30 “kCnksa esa fy[ksaA    
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